
*
+

Find# Part Description Specifications/Model Part # Qty
27 Connector Qc .250 Male Fully Insul 18/22 Ga (F211, BU) 02-00033 ea. 1
10 Switch                  ++ Toggle SPST 02-00092 ea. 1
11 Switch Plate Toggle Switch On/Off 02-00094 ea. 1
12 Rubber Boot         ++ Blk (Toggle switch) 02-00095 ea. 1
30 Connector 230v, Qc .250 Fem Fully Insul 14/16 Ga (UK, EU) 02-00135 ea. 1

2 Blower 250w, 120V     + 2 Stage, Brushless (F211)  (also sell 13-00085) 02-00158 ea. 1
9 Strain Relief                      Snap .360 Dia Blk (Cord Holder) 02-00218 ea. 1

29 Connector  230v, Ring #10- Insul 16/14 Ga (UK, EU) 02-00516 ea. 1
31 Connector  230v, Qc.250 Male Fully Insul 16/14ga (UK, EU) 02-00965A ea. 1
28 Terminal Qc .250 Fem Fully Insul 22/18 Ga (F211, F211-BU) 02-01117 ea. 1

Cable Tie Nylon, 4" 03-00012 ea. 1
16 Nut Nyloc 8-32 Zp 03-00015 ea. 4
24 Nut, Star Washer #10-24 w/Star Washer Zp 03-00038 ea. 2

8 Screw 1/4-20 x .50 (3/8) Hwh Nyloc (Bottom Housing) 03-00105 ea. 4
Insert 1/4-20 x .50 x .50 03-00106 ea. 4

15 Screw                        8-32 x 3/4 HH Zp 03-00133 ea. 4
39 Clamp 2" Dia Worm Drive 03-00138 ea. 7
13 Screw 10-24 x .50 (1/2") Hex Hd SS 03-00430 ea. 8
22 Rivet 3/16 x 1/4 Stl/Stl Black 03-00432 ea. 3
14 Nut 10-24 Nyloc Zp 03-00491 ea. 8

Bag 35x14x16 Wheeled Duffle Blk 06-00077 ea. 2
Bag 20 x 30 poly 4 mil 06-00078 ea. 1
Box 21.625 x 21.625 x 33 350Dw Kra 06-00081 ea. 1
Bag Poly Zip-Lock 2 Mil 4 x 6 06-00593 ea. 1
Label   Model/Serial 115v UL/CUL TD (F211) 07-00258 ea. 1
Label Warning TD Indoors 07-00259 ea. 1
Manual Owners                     (F211, F211-BU) 07-00274 ea. 1

17 Label Product, Dri-Force 07-00275 ea. 1
26 Power Cord Assy        * 25', 230v, 3 x 1.5mm CEE7/7(230v EU) 08-00200 ea. 1
25 Power Cord Assy        * 25', 230v, 3 x 1.5mm BS1363(230V UK) 08-00201 ea. 1
21 Power Cord Assy        * 25', 115v 16/3 SJTW 5-15P   (115V) 08-00226 ea. 1

Manifold Polypropylene Black 13-00057 ea. 8
Injectors   (Buy by Qty 25) Acetal Black            (Buy by Qty 25) 13-00058 ea. 100

23 Base Connector Black, Dri-Force 13-00059 ea. 2
1 Housing Polyethelene Fisher Blue Dri-Force 13-00060S ea. 1

Housing Polyethelene Burgandy Dri-Force 13-00060-01S ea. 1
4 Base Base-SS Dri-Force 13-00061 ea. 1
5 Bulkhead Dri-Force 16 Ga Stl 13-00062 ea. 1

Tube PVC .50 OD x .375 ID (Buy by Qty 200 ft) 13-00065 ft. 400'
Fitting Coupling Barbed   (Minimum order: Qty 25) 13-00067 ea. 25

6 Screen Mesh 1.75 x .75 x .014 ss 20 Mesh 13-00068 ea. 2
7 O Ring 1.5 ID x .094 Buna-N 13-00070 ea. 2

Coupling 2" x 2" Barbed 13-00071 ea. 5
19 Filter, Muffler 2.125 x 3.00 Uni Chrome Pod (Muffler) 13-00075 ea. 1
20 Sleeve 2 x 3 Vinyl Blk 13-00076 ea. 1

Velcro 1.0 Hook and Loop Blk (8 14" pcs) 13-00084 ft. 9.4'
32 Gasket, Motor                      + 2.38 x 1.38 x .50     (glued to housing) 13-00085 ea. 1
33 Plug 1.0 Dia Nylon Blk 13-00086 ea. 1

Hose Vacuum Crushproof 1.5" x 7' Vacuum, Yel/Blk w/cuff 13-00090 ea. 13
18 Fitting 2" x 2" x 2" Barbed Tee (Non Tapered) 13-01550 ea. 3

       to upgrade or complete repair

DriForce
                  (Models: F211, F211-230V UK, F211-230V EU, F211-BU, F211-BUR)  

  - if you order this item, you may need to order additional items marked with same number of +'s in order 

Symbol Definition
  - multiple components to choose from for different models: voltage, size, color, etc

DriForce (F211) Page 1 of 4



38 Cap Vinyl 2.0 X 1.5 BLK 13-01551 ea. 5

DriForce (F211) Page 2 of 4



DriForce Pictorial Drawing

DriForce (F211) Page 3 of 4



DriForce (F211) Page 4 of 4


